EARAZROREIERT — 2 N—XBISY —F 20175E8R13H (H) 6[EEM4H

%?&5%” (PRBE) ¥I7R2K B e
[xE<£] 1 % :2,500,000  ~ 23%&:575,000 @  337%&:325,000  ~ 43&:225,000  ~ 53 :125,000 M
B BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
118|9| N2 rA=F it 2 EH-)BE 1:(45)).8 7-7 37.2| — 8 (4_235) ﬁigz— (KR)
L:A— K774~ B:bho¥FaT-—> NS
2 1) 57 f o2 | BEIXE 1:40.9 4-6 37| — 3 454 | ERAE (KR)
alzl7| 7udaLyy # o2 | BREE 1:(421>.2 33 |38 — | 7 ;1_624) zgg,ﬁ (KiR)
Z:2harTNE—r BXRANE LY — :2ie ]
Jay/T7xzZXEd H o2 '515*3& (174; 3) 55 38.0| — 2 f;) g%ﬁgiﬂ (kiR)
R:FHVYTTRE B:RA— AT UL ¢
o X A— # o2 | AR 1:41.2 64 |87.9] — | 1 | 481 |BHLC OKR)
';:ia—xﬁj?’-—j/ B30/ XR-v o0 ) (+15) j:?%ﬁt%
SL—Z31Y 2 {lﬂﬁoﬁ(ﬂf 1(:34/14.)4 8-8 78 — | 9 (4_153) %E;ﬁi (2&F)
a4 %y v b BibyTT1—F2R gt
. ) i o2 | BRERE 1:41.6 2-2 38.7| — 4 452 | BFE=— (KR)
Z;riglh;—é,fi[:r— - TR IA o e 2 AR
LTI o2 519%%?@— 1:(442).3 1-1 39.5| — 6 g? g%g%ﬂc}m
RixAagR—-5— B:/IVTULH W= B
Q 3 4 o | EEEME— 1:44.1 9-9 40.2| — 5 405 | HEREZ (ERE)
SIL\\:IT)'#\_"DL;j;ﬁ‘A B:teLF-F oo 1) -9 @mjﬂfhv—:‘/7t‘/9—

@ 11— —EBIRfL

13—-7-

23—7F—

33—7— 1,3,7,5,2,8,9,4,6

41—7— 1,3,7,8,2,5,9,4,6

0 HLRE

Ly 9 2,500 | [ 74 K 5-9 2,810 #e 5-8 560M 3ER 5-7-9 23,520M

B B 9 450M 7-9 2,250M 5= 5-9 5,530M RPEL 9-5-7 200,980
5 180M 57 3,100/ B & 9-5 24,560M
7 270M

ABICOVWTRDTEEERROODE. TR LIV,



